Revisions By:

®
GLASS SIZING NOTE: TN 451 SERIES SPECIFICATIONS
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
Ié%/:‘gEchAERSTS FOR SIZING The Top Notch Systems offer a shallow face reveal that creates a flush exterior

appearance. These systems are designed for labor saving stacking type installations that

HSAL“MIN“M WI N D OW WA L LS requires glazing from the interior. Series TN451 and TT451 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water

deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be

drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for

w
structural silicone glazing are also available. The Top Notch Systems are designed for 6
S E R I ES T N 45 1 TO P N OTC H SYST E M fixed horizontal window wall or punched opening applications. 8 €
053
2 1/4" x 4 1/2" frame E 24
Full range of accessory components o8¢
Available in an array of architectural coatings and anodized finishes = é ?(_ g
Interior Glazed = = :
1"=1'-0" mm P23
=
£3
5in
— 3
<sg
28
Ozx
+791/2" RO +791/2" RO Ot E
w2y
3/8" MIN +783/4" FD 3/8" MIN 3/8" MIN +783/4" FD 3/8" MIN g (Z) ;’ g
Ouw X
x33
JOINT 36"DLO 36"DLO JOINT JOINT 36"DLO 36" DLO JOINT 2 g %
< £
21/4" 2 1/4" 21/4" 21/4" 41/2" &
21/4" 2 1/4" f— O
z z z
S|k e S|k o S|k
A 0000 A 3000, 8 N
Y ‘ s ‘ Y ‘ AN
@ © @
e e ]
3 3 3
- - -
o~ o~ o~
— 1" GLAZING
SUPPORTS SUPPORTS
1" GLAZING 1" GLAZING
STANDARD STANDARD
(o) (o) (o)
2| ALT.DET. (1A HOLLOW 2| ALT.DET. (1A a
S 1 2 N 1 3 i —
n
\ \ \ \ ——21/4" x4 1/2" <
FRAMING 2 ": 8
SEQz
o| o o| o o| o S o d £
x| o x| o x¥| o > o g
o . ol ol Z o w
83 214" x4 172" S| & 214" x4 1/2" 3 s >=xT?2 é
ol 3 FRAMING ol 3 FRAMING ol 3 >0 ™17
3] 4 3] 4 il s O —
L, <O {s
5 v»» £ Z W
6 6A 9 & K
o o o n
2 O
a — = un
o
5 e 5 e 5 ]
3 3 3 n
(3] (3] (3]
d 4 4 d 4 4 d
] ] ]
a a a
® / / @ / / ®
(2} (2} (2}
3 3 3
- - -
o~ ~-y o~ ~y o~
EXTERIOR INTERIOR
Fa Y Fa Y 2 Y
b . v . b '\
: 0000 : 0000 sl N\
s|E NN s|E AN s|E N
2|9 2|9 2|9
21/4"x 4 1/2" 21/4"x 4 1/2"
(FRAM'NG INTERIOR x (FRAM'NG INTERIOR x
gJ‘ ! {] SJ‘ ! t;i STANDARD ABBREVIATIONS
< i ; I < i i Drawn By:  RPD
N\ EXTERIOR N EXTERIOR RO ROUGH OPENING Date: 11/14/14
" " FD FRAME DIMENSION .
—1" GLAZIN — 1" GLAZIN Scale:
21/4" 21/4" G ¢ 21/4" 21/4" 21/4" G G 21/4" DLO DAYLIGHT OPENING AS NOTED
k(K B— — 11 k(K — — 11T DO DOOR OPENING File Name: TN451/TT451.dwg
36"DLO 36"DLO 36"DLO 36"DLO DD DOOR DIMENSION Sheet
SMC SURFACE MOUNTED CLOSER
3/8" MIN +783/4" FD 3/8" MIN 3/8" MIN +783/4" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER
JOINT £791/2" RO JOINT JOINT +791/2" RO ot TN451.01




USALUMINUM WINDOW WALLS

SERIES TN 451 TOP NOTCH SYSTEM
FIXED HORIZONTAL WINDOW WALL

GLASS SIZING NOTE:
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
LOAD CHARTS FOR SIZING
GUIDELINES.

TN 451 SERIES SPECIFICATIONS

requires glazing from the interior.

2 1/4" x 4 1/2" frame
Full range of accessory components

Interior Glazed

The Top Notch Systems offer a shallow face reveal that creates a flush exterior
appearance. These systems are designed for labor saving stacking type installations that
Series TN451 and TT451 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water
deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be
drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for
structural silicone glazing are also available. The Top Notch Systems are designed for
fixed horizontal window wall or punched opening applications.

Available in an array of architectural coatings and anodized finishes

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

110"
+2331/4" RO
3/8" MIN +2321/2" FD 3/8" MIN
JOINT 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO JOINT
214" VARIES 21/4" VARIES 21/4" VARIES 214" 4172
=z z
S|k S|E
Va Y 72 Y " Q
v v N
—d
% B
- -
o~ o~
1" GLAZING
SUPPORTS
1" GLAZING
STANDARD
o o
al| ALT.DET. (1A HOLLOW a
= 2 PIECES 2 PIECES 2 PIECES =
~ 1 4 2 4 3 4 ~
\ O \ O \ O \ O \ O \ 2 U4 x4 12"
FRAMING
o| o o| o
x| w x| w
al & ol &
— @ — ™
0 < %} <
al = | =
214" x41/2"
FRAMING
6 6A 6
o
3 3
— —
o~ 3]
: 4 4 4 4 / 4 -
) )
[a] [a]
™ ™
% B
- -
o~ ~ o~
EXTERIOR INTERIOR
Va Y 2 Y
v v
z 11 Z \
=\z Q HER
5% e
21/4"x 412"
(FRAMING INTERIOR \Y
gJ‘ Fi ! & Fi Fi STANDARD ABBREVIATIONS
3 ; i
N EXTERIOR RO ROUGH OPENING
" FD FRAME DIMENSION
1" GLAZIN
21/4" 21/2" 214" 21/2" ¢ c 21/4" 21/2" 21/4" DLO DAYLIGHT OPENING
i DO DOOR OPENING
36" DLO 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO DD DOOR DIMENSION
SMC  SURFACE MOUNTED CLOSER
3/8" MIN +2321/2" FD 3/8" MIN OHCC  OVERHEAD CONCEALED CLOSER
JOINT +2331/4" RO o

)
S E w

—
sEq?
S wZ
Z > g

<= u»n W
St <
- X
> 0 [a)

O = —
L. <0¥s
§ »v €z W
432”5
o O Q>
2 = X2 »n

o

[AN]

(%]

Drawn By:  RPD
Date: 11/14/14
Scale: AS NOTED

File Name: TN451/TT451.dwg
Sheet

TN451.02



Revisions By:
®
GLASS SIZING NOTE: TN 451 SERIES SPECIFICATIONS
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
Ié%'?g;_m?g.rs FOR SIZING The Top Notch Systems offer a shallow face reveal that creates a flush exterior
) appearance. These systems are designed for labor saving stacking type installations that
“SAL“MIN“M WI N DOW WAL LS requires glazing from the interior. Series TN451 and TT451 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water
deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be
drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for 1%
structural silicone glazing are also available. The Top Notch Systems are designed for 6
S E R I ES T N 45 1 TO P N OTC H SYST E M fixed horizontal window wall or punched opening applications. 8 €
053
2 1/4" x 4 1/2" frame E 24
Full range of accessory components o8¢
Available in an array of architectural coatings and anodized finishes = é ?(_ g
Interior Glazed = = :
1"=1'-0" mm P23
= Q9=
. =
+2331/4" RO = 038s
. . . <3
3/8" MIN +2321/2" FD 3/8" MIN : =
Oz
JOINT 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO JOINT ™ D53
Osr
2 1/4" VARIES 2 1/4" VARIES 2 1/4" VARIES 2 1/4" 41/2" ’ E i ‘NL
f— 38
Sge
< T
z z 3 =
== ; S|k o
|0 ) ©|0 (@]
Va Y L Fa Y ‘ AN
A% © -
|
3 3
- -
o~ o~
1" GLAZING
2 / / / / / / 2
a) a
W SUPPORTS W
ol ol © 1" GLAZING ol 4| 7
N STANDARD T
ol : 21/4" x4 1/2" o
323 FRAMING 23 5
: 2 6 6A 6 : 2 :
© ©o
™
- e e e w N N
w % g ——21/4"x 4 1/2
2 ol & .= o FRAMING
z = N o =
© E =] au =] —
5 H = + H =
2% 2l g 7z 2l g <
& ~ ~— & ~ > = 8
/ \ s E m <
I
= = = v = =
| 22 ¥z
EXTERIOR | INTERIOR = v 5—; <
I
| E T [a'4
N AN N | S50 ™~
N N] L] i [a)
H',,,.._;i J — = L{'_)
u S h ’ & < o 5 =
2 % 2 ¥ g« %z
Y g 15 o S 3 oo kK5
S ¥ N 1A HOLLOW 3+ N 5 o g >
-~ % / 2 PIECES / 2 PIECES 2 PIECES -s 1" GLAZING é’ — = (%]
5 1 @ v@ v@ v@ v@ z L
o (@)
9 \ \ \ \ \ \ 5 : =
o o SUPPORTS o o
@ 1" GLAZING @
x| o x| o
~ [ STANDARD ~ [
ol . 21/4"x 4 172" o .
S| 3 FRAMING S| 3 %
R 2 6 6A 6 R 2 R
© ©
-
N | | |
K3 ~——21/4"x41/2"
ol & o FRAMING
| N o
a) a
5| & Bl g
— —
o~ ~ o~
e Y V2 Y
b b
z 7 Z \
: . OO el N
© |0 ©|O
|7 21/4"x 41/2" |7
(FRAM'NG INTERIOR x
gJ‘ Fl ! £ Fl t;i Fl STANDARD ABBREVIATIONS
< i 3 ; ; It Drawn By:  RPD
N EXTERIOR RO ROUGH OPENING Date: 11/14/14
" FD FRAME DIMENSION .
— 1" GLAZIN! Scale:
21/4" 21/2" 21/4" 21/2" G ¢ 21/4" 21/2" 21/4" DLO DAYLIGHT OPENING . AS NOTED
11— 11 DO DOOR OPENING File Name: TN451/TT451.dwg
36"DLO 36"DLO 36"DLO 36"DLO 36"DLO 36"DLO DD DOOR DIMENSION Sheet
SMC SURFACE MOUNTED CLOSER
3/8" MIN +2321/2" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER
JOINT JOINT
+2331/4" RO
TN451.03




+———F.O0. WALL

ROD &
SEALANT
;J;A RW451

-
-
@
=
PS100
INTERIOR
) &
S -
- <
— 5
=
—
EXTERIOR
21/4" DLO
7
38" FD
RO
f————F.0. WALL
ROD &
SEALANT
N EESS s s s s s s s ——
= RW450 AP4gg |
INTERIOR
= &
v -
<X <
—
—
—
EXTERIOR
21/4" DLO
%
38" FD
RO

JAMB SECTI

ON

ALTERNATE DETAIL

(2) 10X112HWSMS

(#10 X 1 -1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

10X2PHPSMS
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

(4) 10X112HWSMS

(#10 X 1 -1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

10X2PHPSMS
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

RW450

(4) 10X112HWSMS

(#10 X 1 -1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

INTERIOR L _ _ __ | |

41/2"

10X2PHPSMS
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

EXTERIOR

DLO 21/4" DLO

FD

RO

INT. VERT. SECTION @
RW460
@ f—— spass
GASKET
INTERIOR

41/2"

EXTERIOR

DLO

ROD & SEALANT

21/4" DLO

FD

RO

INT. VERT. SECTION @

RW466 RW469

INTERIOR

1" THK. GLAZING D

41/2"

EXTERIOR

DLO VARIES DLO

FD

RO

INT. VERT. SECTION

WINDOW WALL SERIES TN451 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN451 / SERIES TT451
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

1-0" = 10"

Date: 11/14/14

Scale: AS NOTED

File Name: TN451/TT451.dwg
Sheet

TN451.04



3/8"

-
ROD & SEALANT
s
—
o~
o
x|
) =)
T 0
z
WEEP HOLE 5
9 5
a [
N4
z
EXTERIOR : INTERIOR
4172
O]
z
g
Q 3 & (2) 10X2PHPSMS
a © 8 (#10 X 2" PHILLIPS PAN HEAD
9 z ¥ z SHEET METAL SCREWS FOR
o = SHEAR BLOCK ASSEMBLY
= RWA63
) 7
SB663 H— AP499
1" LONG
<
JE
(1) #10 X 1/2" PH SMS
@ EA. BOTTOM CLIP
@ RW453
T o
z
g - g - RW450
8 ® 8 VERTICAL LINE
o < a
z ¥ z
EXTERIOR - INTERIOR
o
4172 L
4 1
INT. HOR. SECTION
412"
O]
z
N
EXTERIOR 9 < 9 INTERIOR
N [0 N
o ) o
9 z % z
o [=
E RW464
o g SB334
o =
s
S RW465
N
ROD & SEALANT
HC256
. T.O.FLR. SLAB
@ (
o
% WEEP HoLE— Vo
E I I

(2) 10X2PHPSMS

(#10 X 2" PHILLIPS PAN HEAD
SHEET METAL SCREWS FOR
SHEAR BLOCK ASSEMBLY

EXTERIOR

1/8"X1/2" WEEP SLOT
2 PER LITE, 6" FROM
EDGES

o
]
o
©o
~
k‘I;
o RW534
gl 2|3
o~
©
~
kL
o
]
o

RwW453

1" THK. GLAZING D

47/16"

— AP499
1"LONG

(1) #10 X 1/2" PH SMS
@ EA. BOTTOM CLIP

RW450
VERTICAL LINE

INTERIOR

INT. HOR. SECTION
FOR STRUCTURAL
SILICONE GLAZING

ALTERNATE DETAIL

WINDOW WALL SERIES TN451 TOP NOTCH SYSTEM

Revisions By:

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

WSALUMINUM

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN451 / SERIES TT451
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

Date: 11/14/14

Scale: AS NOTED

File Name: TN451/TT451.dwg

1-0" = 1'-0"

Sheet

TN451.05



a1/4"

3/4" 4"

/8"

—
¢

JORDAHL K28/15

N

) L
1 1
N JORDAHL K28/15
INSERT 10" LONG
pal
A
HC300
Tz
S _ (3) M12 T-BOLTS @ EACH
— |2 CONgiELE < % INSERT, LOCATE BOLTS
>< @ | -ANCHORS
"l
A
BACKER ROD & A
: SILICONE SEALANT
8 2" MIN. 5/8" ALUMINUM SHIM
~ 2 12 VAX. AS NEEDED
ey /z
‘/
3
& HC301
X 16" LONG
RW452
s
o = o \
o N o
a ~ | 10X112HWSMS
I (#10 X 1-1/2") HEX WASHER
HEAD SHEET METAL SCREWS
@ . RWA453 FOR FRAME ASSEMBLY
s 2 \ |
2 3
o [ RW450
¥ VERTICAL LINE
1/8"X1/2" WEEP SLOT —— - = :
2 PER LITE, 6" FROM 34| “ 41/2 |
EDGES 1 7
@ PRE-CAST PANEL
34" 41/2" 5"
+ [0) } } +*
z
S [ : 10X112HWSMS
S (#10 X 1-1/2") HEX WASHER
S . o HEAD SHEET MEAL SCREWS
I g ¥ FOR FRAME ASSEMBLY
o = [=
5 GB500
[ ] ==
. . GB180 METAL STUD | I
2 f FRAMING \ \
' e \ \
o - (fm—— == —===== o
@ &} o, S~ Pt |
~ Iy ~— A |
I ' S~ o7 In ‘
I P N |
H \\ ST-135 PPH ~ \\ } } | |
~ _SMs \ \
7 = ]/ >—=<1 - [ £ 2 | |
: / T~ / \ \
3 BACKER ROD & — / ~~ 4 I I
A SILICONE SEALANT | 5/8" THK. GWB s=————= \
% \ =7 AN I I
\ — \ I |
N -7 \ \
SOLID SHIMS @ S | |
SILL @ HC302 < HCp02 S~ / | |
. ANCHOR CLIPS A A X /16" LONG T~ S ‘ ‘
8 2" MIN. , 5/8" | < \ \
. - ~ \ \
N 2 1/2" MAX. W \ (3) M12 T-BOLTS @ EACH \
NCRETE PANEL ————= I I
cone ___INSERT, LOCATE BOLTS | |
<J _~"=-@-ANCHORS | I I
-~ / \ \
A S~ ! \ \
iz =
b 7 N \ \
< N - \ | |
4|z Se_ -7 \‘ I I
= A W HC30g- " T~ ) |
A 7 JORDAHL K28/15 Y | |
INSERT 10"LONG  _ _~ | |
A N | |
) <7 \\ - \ I I
- \
" " AN - | |
L 414 , 5/8 \' ~— (I [
1 4 %
siLL secTion (9

@ PRE-CAST PANEL

INSERT 10" LONG

T2 <7 HC300
= g CONCRETE A (3) M12 T-BOLTS @ EACH
- PANEL INSERT, LOCATE BOLTS
@ | -ANCHORS
A
A
ALUM. WALL 7
PANEL
g <7 2'MIN. 0.6" |4 ALUMINUM SHIM
~ 2 172" MAX 'l AS NEEDED
<
3
e ) 4 =
h W
BACKER ROD &
SILICONE SEALANT HC301
= X 16" LONG @
TR Y] rRwas2
7 7 7 Z X
. s
o = o
4 N N
a ™~ 10X112HWSMS
I (#10 X 1-1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY
Q
; z
S g
-
S —
a
© ——— RW450
X VERTICAL LINE
£
3/4" “
HEAD SECTION @
@ ALUM. WALL PANEL
3 412" | L 5"
K g ‘ ‘ 1
oy | N ‘ ‘ 10X112HWSMS
c Aé’ﬁ_&g S 3 (#10 X 1-1/2") HEX WASHER
Io) NOTCH . a o HEAD SHEET MEAL SCREWS
- 9 = x FOR FRAME ASSEMBLY
o = [=
o GB500
( j r——
. . GB180 METAL STUD | l
= { FRAMING [ \
o (4) ST269 - N I
o % | 65/16" DIA. WEEP #12 X 2" " | |
: 6" FROM ENDS PH SMS ' } }
t |
\ - N h |
H< ST-135 PPH N } } | |
~ _ SMs \ \
(G 3 >—=<T_ ckY | |
R Su Ve S~ / | |
3 BACKER ROD & —f / T~ 4 | |
A SILICONE SEALANT | 5/8" THK. GWB ~=————= \
\ = ~ \ \
il (CzZz . N _ \ | |
n A Z 16" LONG N - \ ‘ ‘
SOLID SHIMS @ S | |
SILL @ HC302 e S~ J | |
N ANCHOR CLIPS H / T~ / I I
S 2" MIN. , 508" [ > \ \
- ~ \ \
~ 2 1/2" MAX. ] \ (3) M12 T-BOLTS @ EACH | |
___INSERT, LOCATE BOLTS | |
ALUM. WALL _~~=< @ -ANCHORS \ \
PANEL & G ~~_ // I I
ALUM. CLIP T~ L } }
A =< ‘ |
i < -7 N ‘ ‘
¥z N7 Vool ‘
B CONCRETE Hoags —<Z | | |
a2 PANEL / = / | I
A 7 JORDAHL K28/15 , | |
INSERT 10" LONG  _ _~ | |
<7 L/ 2 '\ P RN | |
N - N \ \
" N - | |
4 > I \
SILL SECTION (@)

@ ALUM. WALL PANEL

WINDOW WALL SERIES TN451 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

1-0"=1-0"

)
S E w

—
sEq?
S wZ
Z > ;

<= u»n W
St <
- X
> 0 [a)

O = —
L. <0¥s
§ »v €z W
432”5
o O Q>
2 = X2 »n

o

[AN]

(%]

Drawn By:  RPD
Date: 11/14/14
Scale: AS NOTED

File Name: TN451/TT451.dwg
Sheet

TN451.06



41/2"

NP225

NP225

RW464

@ 1" THK. GLAZING

SB334

MODIFIED

RWGOS/( ﬁ i

5/16"

13/4"

1/2"

a7

<7

A
EDGE DISTANCE A
VARIES PER CALCS.

S

<7
A

EDGE DISTANCE
VARIES PER CALCS. 4

A

4

A D

AWN

8" CONCRETE SLAB
g

1/2"

. 5 .
<
A <
A - <
STRUCTURAL ﬁd A
CONCRETE SHEAR g A
WALL . g A "
= 1/4" @ ZINC PLATED HILTI
SIS N KWIK HUS-EZ CONCRETE
BACKER ROD & p SCREW ANCHOR (ESR-3027)
SILICONE SEALANT p
j2 8 <
hi & <
S
o e
~ WX104
o
9 <
)
. - al
2 3 RW452 - .
- . “ ((FEAFZ & E
o] g "JMJ"?%A’ 5
I ~ A (
a 10X112HWSMS
(#10 X 1-1/2") HEX
WASHER HEAD SHEET
METAL SCREWS FOR
FRAME ASSEMBLY
o
-
[a)
RW450
VERTICAL LINE
=
EXTERIOR INTERIOR
© \' 41/2" L © %
1 i
© ©
—_ — —
S| &
HEAD SECTION \XY T
WITH RECEIVER
3/4" 41/2"
Q
Zz
: N
o EXTERIOR Q S Q INTERIOR 4
- N} o ~
[a) [N A o
z ~ z
= =}
o RW464 . ;{7
) °
| WEEP
o} SB334 HOLE
@
E A
% = RW465
) o~
~ SEALANT
z 2
o
D 78
A g T.O. FLR. SLAB
N
A S
hd L P A A
MNee— > 4
Mee—"1
MNee— >
~— 1/4" @ ZINC PLATED HILTI
~ A Nz ” KWIK HUS-EZ CONCRETE
= M= L SCREW ANCHOR (ESR-3027)
MNee—
N— < >
] > <
N’ o

SILL SECTION

@

AT BALCONIES

RW452 4

NPZZSE\

RW453

D

NP225

1" THK. GLAZING

41/2"

11/8"

NP825

o

INTERSTORY DETAIL
@ HEAD & SILL

CONCRETE SLAB

SHOWING SLAB COVER

WINDOW WALL SERIES TN451 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN451 / SERIES TT451
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

1-0"=1-0"

Date: 11/14/14

Scale: AS NOTED

File Name: TN451/TT451.dwg
Sheet

TN451.07



Revisions By:
®
GLASS SIZING NOTE: TT 451 SERIES SPECIFICATIONS
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
LOAD CHARTS FOR SIZIN .
OAD C! SFORS G The Top Notch Systems offer a shallow face reveal that creates a flush exterior
GUIDELINES. . . . N .
appearance. These systems are designed for labor saving stacking type installations that
HSALUMINUM WI N D OW WA L LS requires glazing from the interior. Series TN451 and TT451 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water
deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be
drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for 1)
structural silicone glazing are also available. The Top Notch Systems are designed for 6
S E R | ES TT 45 1 TO P N OTC H SYST E M fixed horizontal window wall or punched opening applications. 8 €
053
214" x 4 1/2" frame E Z58
Full range of accessory components 2 é g
Available in an array of architectural coatings and anodized finishes = &< g
Interior Glazed = = :
=10 mm P23
=
os
— 5
<$g
128
Ozx
+791/2" RO +791/2" RO O 3
w2y
3/8" MIN +783/4" FD 3/8" MIN 3/8" MIN +783/4" FD 3/8" MIN g (Z) ;’ g
Ouw X
x33
JOINT 36"DLO 36"DLO JOINT JOINT 36"DLO 36" DLO JOINT 2 g %
< £
21/4" 2 1/4" 21/4" 2 1/4" 41/2" &
21/4" 21/4" o
z z z
sS\E o S|k o sS\|E
%|0 ) ©|98 e@@ ©|98
e 5 @@@ a° S AB AN e N
Va Y L Fa Y L Va Y L
A2 A 2 A2 -
| > |
K4 K4 K4
— — —
(3] (3] (3]
— 1" GLAZING
SUPPORTS SUPPORTS
1" GLAZING 1" GLAZING
STANDARD STANDARD
(@) (@) (@)
a| ALT.DET. (1A HOLLOW & | ALT.DET. (1A a
R 1 2 R 1 3 R O
\ \ \ \ ——21/4"x41/2" <
FRAMING > = 8
SEQz
o| o o| o ol o S o d £
x| o | o x| o > Z
s s s Z »nw
9l 3 21/4"x 4 1/2" 83 21/4"x 4 1/2" 9l 3 ST fé
~
vl S FRAMING ol S FRAMING vl g =O] 2
— — — — — — - =
L, <O {s
6 6A g »n € Z W
§35at 5
g O
a = = un
o
o e o > | o w
3 3 3 n
o~ o~ o~
(@) (@) (@)
- - -
: // // : // // :
©o ED ©o
(2} (2} (2}
5 5 5
— — —
~ ~ ~ ~ ~
EXTERIOR INTERIOR
Ve Ve ) J2
b . Y b . . b _ v
: ) : 2000 :
©|O ©|O ©|O
& |7 & |7 & |7
21/4"x 4 1/2" 21/4" x4 1/2"
(FRAWNG INTERIOR x (FRAWNG INTERIOR x
gJ‘ ! [ ] SJ‘ ! gi STANDARD ABBREVIATIONS
< 1 ; 1 < | 1 Drawn By:  RPD
AN EXTERIOR k EXTERIOR RO ROUGH OPENING Date: 11/14/14
L qw L FD FRAME DIMENSION Scale:
2 1/4" 2 1/4" L'GLAZING 5 g0 21/4" 2 1/4" L'GLAZING ) ) DLO DAYLIGHT OPENING h AS NOTED
1T1— — 1T — 11 DO DOOR OPENING File Name: TN451/TT451.dwg
36"DLO 36"DLO 36"DLO 36"DLO DD DOOR DIMENSION Sheet
SMC SURFACE MOUNTED CLOSER
3/8" MIN +783/4" FD 3/8" MIN 3/8" MIN +783/4" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER
JOINT £791/2" RO JOINT JOINT £791/2" RO ot TT451.01




Revisions By:

®
GLASS SIZING NOTE: TT 451 SERIES SPECIFICATIONS
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
LOAD CHARTS FOR SIZIN
GCL)JIDECLINES.S OR S G The Top Notch Systems offer a shallow face reveal that creates a flush exterior

appearance. These systems are designed for labor saving stacking type installations that

"SALUMINUM WI N D OW WA L LS requires glazing from the interior. Series TN451 and TT451 utilize wedge-type molded

corner exterior sponge gaskets for superior air and water performances. Internal water
deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be

drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for 4}
structural silicone glazing are also available. The Top Notch Systems are designed for O
S E R | ES TT 45 1 TO P N OTC H SYST E M fixed horizontal window wall or punched opening applications. 8 £
0§ ¢
2 14" x 4 1/2" frame E Ead
FIXED HORIZONTAL WINDOW WALL vl s o aectre z::
Available in an array of architectural coatings and anodized finishes = o< g
Interior Glazed = 8‘3 :
o
1"=1"-0" 1 %?g
E os
— 5
<3g
[oFF:
+2331/4" RO O 53
w c ;
3/8" MIN +2321/2" FD 3/8" MIN g %f 5
JOINT . . . . . . JOINT ©28
36"DLO 36"DLO 36"DLO 36"DLO 36" DLO 36"DLO <z
<z
21/4" VARIES 21/4" VARIES 21/4" VARIES 21/4" 41/2" o
ju P’ J
z z
S\|E . S|E
5|0 ( ©|9 N
23 5 g \
& ‘ @ ‘ L%;
e b
5 5
— —
N (3]
1" GLAZING
SUPPORTS
1" GLAZING
STANDARD
(o) (o)
a| ALT.DET. (1A HOLLOW a
H 2 PIECES 2 PIECES 2 PIECES N —
~ 1 4 2 4 3 4 ~ IS
‘ ‘ ‘ ‘ ‘ ‘ ——21/4"x41/2" <~
FRAMING > E R
0 ©)
> = qQ z
2|8 2l e S5¢z s
x
S - | . Z »ow
& & al & o <
S| & S| & 2Tl w
a3 9 3 20 a)
| - d1 3 a1 = —
21/4" x4 1/2" < O uﬂ? >
FRAMING g 19 z Z W
6 6A 6 L N P ==
o o n
G O { >
2 L
5 a — e w
5 e e e % )
3 S »
N (3]
: 4 4 4 4 4 4 :
g} g}
a a
o o
Y &
- -
~N | o~
EXTERIOR INTERIOR
Fa Y 2 Y
b b
z 11 E= \
S|z Q sl N
©| 9 |0
&7 @ |7

21/4"x 4 1/2"
(FRAM'NG INTERIOR x
& [l ! f] ! Fl

:J q y! ; ¥ g 4 ) STANDARD ABBREVIATIONS Drown By, RPD
N EXTERIOR RO ROUGH OPENING Date: 11/14/14
. . . L 1~ cLazING . . FD FRAME DIMENSION Scale: AS NOTED

21/4" 21/2" 2 1/4" 21/2" 2 1/4" 21/2" 2 1/4" DLO DAYLIGHT OPENING "
1y b - r DO DOOR OPENING File Name: TN451/TT451.dwg
36"DLO 36"DLO 36" DLO 36"DLO 36"DLO 36" DLO DD DOOR DIMENSION Sheet
SMC SURFACE MOUNTED CLOSER
3/8" MIN +2321/2" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER

JOINT +2331/4" RO JOINT TT45 1 02




Revisions By:

®
GLASS SIZING NOTE: TT 451 SERIES SPECIFICATIONS
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
LOAD CHARTS FOR SIZING .
GUIDELINES. The Top Notch Systems offer a shallow face reveal that creates a flush exterior

appearance. These systems are designed for labor saving stacking type installations that

HSALUMINUM WI N D OW WA L LS requires glazing from the interior. Series TN451 and TT451 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water
deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be

drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for
structural silicone glazing are also available. The Top Notch Systems are designed for

S E R | ES TT 45 1 TO P N OTC H SYST E M fixed horizontal window wall or punched opening applications.

(2]
2
O
3 ¢
0%
2 1/4" x 4 1/2" frame E @8
Full range of accessory components 2 é 4
Available in an array of architectural coatings and anodized finishes = &< g
Interior Glazed = 29 f
T=10" mm P23
=25
=
+2331/4" RO 55
—] %3
3/8" MIN +2321/2" FD 3/8" MIN : o8 8
2%
JOINT 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO JOINT ™ D53
(SR
21/4" VARIES 2 1/4" VARIES 2 1/4" VARIES 2 1/4" 41/2" ’ Zo :;
®s8
SB o
z = <"z
S|k S|E o
» |9 ( |0 (@]
&7 &7
Pz N . a .
b hid .
-
3 K
- —
o~ o~
——1" GLAZING
g 4 4 4 / )/ )/ .
- -
a &)
o SUPPORTS / / o
al 4| ° 1" GLAZING ol ol ®
™ STANDARD N
ol - 2 1/4" x 4 1/2" ol =
S0 3 FRAMING 4| 3 o
3 o 6 6A 6 912 S
— © — © ~
© ©
. - e e
W B g ———21/4"x41/2"
S ol & < o FRAMING
= < o~ -
Y 5 i 3 =
S z = I E H
3 : a1 = = 3y =
5 i ~ 5 NP (S - z- 8
\ > (%]
‘ R
i 25 %2
EXTERIOR ! INTERIOR 3 « b
|
N AN Q N | T ~ X
r 3 : 29 -0
| 0
w LT N I | et - = < O <~ >
.2 3 2 & § v 2z
o S 15 o =S 3 - a5
3% o 1A HOLLOW =E ~ 2 oy¥
- % / 2 PIECES / 2 PIECES 2 PIECES -s ——1" GLAZING 2 g @
3 ) 4 @ @ @ @ z i
o o
3 \ \Ogin \ \ \ \ w : it
o o SUPPORTS o o
(3] " o
el a 1" GLAZING €| o
Tl STANDARD .|
ol . 21/4"x 41/2" ol .
S| 2 FRAMING S| 3 %
Sl 8 6 6A 6 S 2 S
8| © N @ ~
. e e e
¥ ——21/4"x 4 1/2"
-
9| o o) FRAMING
2 &)
Bl & CIIES
- -
o~ ~ N
O Ve Y
A3 ©
z 7 £
zls O@ 2o
|0 |0
el 2 1/4" x 4 1/2" 2/89
(FRAMING INTERIOR &
gJ‘ [] ! [ ] ['] gi [] STANDARD ABBREVIATIONS
< 1 ! L e i Drawn By:  RPD
N EXTERIOR RO ROUGH OPENING Date: 11/14/14
Lqn FD FRAME DIMENSION Scale:
21/4" 21/2" 21/4" 210 1'GLAZING 21/4" 21/2" 21/4" DLO DAYLIGHT OPENING - AS NOTED
o — 1T DO DOOR OPENING File Name: TN451/TT451.dwg
36" DLO 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO DD DOOR DIMENSION Sheet
SMC  SURFACE MOUNTED CLOSER
3/8" MIN +2321/2" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER
JOINT +2331/4" RO JONT TT45 1 03




3/8"

f——————F.0. WALL
SEALANT

i RT451
%A AP499 |

(2) 10X112HWSMS

(#10 X 1-1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

10X2PHPSMS
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

PS100
INTERIOR

41/2"

e ——— K

EXTERIOR

21/4" DLO

FD

3/8"

RO

JAMB SECTION @

~——F.0. WALL

SEALANT
RT450

I
;

(4) 10X112HWSMS

(#10 X 1-1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

t— 10X2PHPSMS
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

INTERIOR

41/2"

EXTERIOR

21/4" DLO

FD

RO

JAMB SECTION @

ALTERNATE DETAIL

INTERIOR

RT450

(4) 10X112HWSMS
(#10 X 1-1/2") HEX WASHER
HEAD SHEET METAL SCREWS

FOR FRAME ASSEMBLY

RT461 RT469

41/2"

| — 10X2PHPSMS ﬁ E
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

INTERIOR

41/2"

1" THK. GLAZING D]

[@ 1" THK. GLAZING

EXTERIOR EXTERIOR
DLO 21/4" DLO DLO VARIES DLO

FD FD

RO RO
INT. VERT. SECTION @ INT. VERT. SECTION

RW460
+—— SP455
GASKET
INTERIOR

41/2"

EXTERIOR SEALANT
3/8"
DLO 21/4" DLO
FD
RO

INT. VERT. SECTION @

WINDOW WALL SERIES TT451 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN451 / SERIES TT451
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

WITH THERMALLY BROKEN PARTS

Date: 11/14/14

Scale: AS NOTED

File Name: TN451/TT451.dwg
Sheet

1T451.04



3/8"

Ve
hd ROD & SEALANT
K}
-
o~
o
)
w
WEEP HOLE
Q
)
a
EXTERIOR INTERIOR
L 412" {
£ %
HEAD SECTION @
Q
Zz
N
9 < 9 10X2PHPSMS
& © N (#10 X 2") PH SMS
Q 2 ¥ 2
) T
e =
| — RT463
Soee ! 14— AP499
1" LONG
glels
o~
(1) #10 X 1/2" PH SMS
@ EA. BOTTOM CLIP
= RW453
T Q
o :
3 R l~—— RT450
e 8§ a 8 VERTICAL LINE
a < o
z X z
EXTERIOR = INTERIOR
4
412"
INT. HOR. SECTION
412"
[©]
Zz
EXTERIOR 9 B 9 INTERIOR
& 0 &
o z < z
a E
| 4 RT464
o E SB334
o =
K}
3 RW465
N
ROD & SEALANT
HC256
T.0. FLR. SLAB
¢ — (
% WEEP HOLE — Do
& [
SILL SECTION @

10X2PHPSMS
(#10 X 2") PH SMS

1/8"X1/2" WEEP SLOT
2 PERLITE, 6" FROM
EDGES

o
-
a
]
©
ha
'\L
= RW534
=
olel s
N
©
-
RL
(o)
-
[a)

EXTERIOR

— AP499
1"LONG

(1) #10 X 1/2" PH SMS
@ EA. BOTTOM CLIP

~—— RT450
VERTICAL LINE

INTERIOR

INT. HOR. SECTION
FOR STRUCTURAL
SILICONE GLAZING @

ALTERNATE DETAIL

WINDOW WALL SERIES TT451 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN451 / SERIES TT451
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

WITH THERMALLY BROKEN PARTS

1-0"=1-0"

Date: 11/14/14

Scale: AS NOTED

File Name: TN451/TT451.dwg
Sheet

TT451.05



. 41/4" ,
1 1
JORDAHL K28/15
INSERT 10" LONG
A HC300
g g CONCRETE (3) M12 T-BOLTS @ EACH
- ARk - g % INSERT, LOCATE BOLTS
@ | -ANCHORS
4 1
A
BACKER ROD & <
. SILICONE SEALANT
8 2" MIN. 5/8" ALUMINUM SHIM
= 12 VAR, | AS NEEDED
A
A A A
‘J T
5
& HC301
X 16" LONG
JET AR
RT452
. s
9 S
@
& 10X112HWSMS
I | (#10 X 1-1/2") HEX WASHER
HEAD SHEET METAL SCREWS
@ RW453 FOR FRAME ASSEMBLY
0]
P4
o S
= 3
a
o [~ RT450
X VERTICAL LINE
1/8"X1/2" WEEP SLOT —— - = .
2 PER LITE, 6" FROM 34| = 41/2 |
EDGES i 'A* 7
@ PRE-CAST PANEL
34" N 412 L 5"
Q T
g 10X112HWSMS
< (#10 X 1-1/2") HEX WASHER
G " o HEAD SHEET METAL SCREWS
5 ) 8 ¥ FOR FRAME ASSEMBLY
o = 5 [=
X, GB500
@ ZL) RT464 r=1
. . 5y 6 GB180 METAL STUD | |
E { FRAMING I [
2| = -
4 R
= | |
~ | |
I I
I I
| |
I I
I I
- | |
3 BACKER ROD & —— / ~~ 7/ \ \
¢ SILICONE SEALANT | 5/8" THK. GWB «<—— N I
\ - | \
N " N \
SOLID SHIMS @ S= } }
SILL @ HC302 HC302 T~ / | |
. ANCHOR CLIPS < X /16" LONG T~ e ‘ ‘
& 2" MIN. 5/8" [ —>< ‘ ‘
N 4 12 172" MAX T (3)M12T BOLTg/@ EACH | |
_ = _ . - : I I
CONCRETE PANEL ~ ___INSERT, LOCATE BOLTS | |
_~ "=~ @ -ANCHORS | | |
~_ / | \
) \ 4 T
~— \ \
Pt \ \
- \ \ |
=l - \ \ |
3|z ==l [ \
-2 = / I I
A JORDAHL K28/15 , | |
A INSERT 10"LONG  __~ | |
N I I
\ - \ | |
414 5/8" \' \\ e \ ‘ ‘
L L > (. \
4 4 4
SILL SECTION @

@ PRE-CAST PANEL

@ ALUM. WALL PANEL

314" 'T 4 1/8"
JORDAHL K28/15
INSERT 10" LONG
4
[ HC300
3|2 CONCRETE (3) M12 T-BOLTS @ EACH
- PANEL a % INSERT, LOCATE BOLTS
@ | -ANCHORS
4 |7
A
ALUM. WALL d
PANEL
<
= 2" MIN. si8" | ALUMINUM SHIM
N 217 A f| AS NEEDED
&
® A
$ %{ A A
BACKER ROD &
SILICONE SEALANT
X 16" LONG
P ams: RT452
. s .
g N g
a = 10X112HWSMS
a | (#10 X 1-1/2") HEX WASHER
HEAD SHEET METAL SCREWS
@ Rw453 FOR FRAME ASSEMBLY
0
. z
o N
- 5
a
0 e RT450
x VERTICAL LINE
£
34 | o 412" |
= /\) a
HEAD SECTION @
@ ALUM. WALL PANEL
34 412 L 5"
1 % 1
o g 10X112HWSMS
1/8"X1/8 < (#10 X 1-1/2") HEX WASHER
S CAPILLARY ) o o ol 1 HEAD SHEET METAL SCREWS
S NOTCH g N ¥ N FOR FRAME ASSEMBLY
3 g B[ E]]| 8
’/? -, GB500
T@ﬂ/ @ RT464 =
. . %’ 6 @ GB180 METAL STUD | |
a SB334 { FRAMING } }
S & | 56" DIA. WEEP f— 0T T T T Tl ‘
S| 6" FROMENDS n .,/ T~ " !
~ / ~~ / \ \
iy S~ 7 I ‘
Il o N Il | |
T A ST-135 PPH N |
N_ __SMs \ \
Lz >—=21_ ek I
. El / T~ / I I
3 BACKER ROD & —— / T~ P \ \
A SILICONE SEALANT | 5/8" THK. GWB ~<=——» \
hd \\ e E } }
X 16" LONG N - AR |
SOLID SHIMS @ >=C | \
SILL @ HC302 T~ / [ [
. ANCHOR CLIPS < T~ / [ \
& 5/8" Ss_c \ \
= ¥ — ~ \ \
~ 1 (3) M12 T-BOLTS @ EACH | |
___INSERT, LOCATE BOLTS | \
ALUM. WALL .~ "~ @]1-ANCHORS /l } }
PANEL & G e~
ALUM. CLIP < T S }
=<
- \ \
- N [
e - \ \
B CONCRETE HC390" << _ ) I I
a3 PANEL i ~ / \ \
A 5 JORDAHL K28/15 y | |
A 2 ' INSERT 10" LONG ~__~ | |
[ PN | |
\\ Pt \ | |
- ~_ " A \ \
+ > [ |

WINDOW WALL SERIES TT451 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN451 / SERIES TT451
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

WITH THERMALLY BROKEN PARTS

1-0" = 1'-0"

Date: 11/14/14

Scale: AS NOTED

File Name: TN451/TT451.dwg
Sheet

1T451.06



<

A

STRUCTURAL

CONCRETE SHEAR

WALL

BACKER ROD &

SILICONE SEALANT

A

<

A

1/4" @ ZINC PLATED HILTI
KWIK HUS-EZ CONCRETE
SCREW ANCHOR (ESR-3027)

-

R.O.

R.O.

1/2"

F.D.

F.D.

31/8"

718"

21/4"

11/4"

D.L.O.

D.L.O.

EXTERIOR

3/4"

WX104

13/16"

41/2"

1" THK. GLAZING

5/8"

41/2"

10X112HWSMS

(#10 X 1-1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

INTERIOR

RT450
VERTICAL LINE

HEAD SECTION @

WITH RECEIVER

41/2"

N

89/16"
7 5/16"

EXTERIOR

25/8"

21/4"

NP225
NP225

RT464

INTERIOR S

ZX771

>~ -
MODIFIED :ﬁ
RW605 m —
IR 751:
Il t : - d
4. A P p
< A
< A
<
<
ED/\GE DISTANCE A q
VARIES PER CALCS. A A
< A
4 < A @
) )
w
< i 5
< 4 gl °
A < o)
A (]
EDGE DISTANCE A )
VARIES PER CALCS. q A A
<
< A o
A <
A
4 A
< a4
<

@ 1" THK. GLAZING

SB334

RW465

WEEP
HOLE

SEALANT

FT400

3/8"

1/2"

9

17 T.0. FLR. SLAB

%

4
1/4" @ ZINC PLATED HILTI

21/2"
MIN

SILL SECTION @

AT BALCONIES

KWIK HUS-EZ CONCRETE
SCREW ANCHOR (ESR-3027)

11/8"

CONCRETE SLAB

W622
RT452 J
NP825

NP225

s INTERSTORY DETAIL
@ HEAD & SILL (15

SHOWING SLAB COVER

D

NP225

1" THK. GLAZING

41/2"

WINDOW WALL SERIES TT451 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN451 / SERIES TT451
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

WITH THERMALLY BROKEN PARTS 1-0"=1-0"

Date: 11/14/14

Scale: AS NOTED

File Name: TN451/TT451.dwg
Sheet

1T451.07




